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Найди значения выражений:

23 * 4 - 58 : 2 - 5 * 12 + 98 : 49 =

92 : 2 + 13 * 2 - 94 : 47 - 11 * 6 =

12 * 5 - 84 : 6 + 2 * 7 - 100 : 25 =

5

4

56









Чем числа в этой задаче отличаются от 
предыдущих?



1  2  3  4  5  6  7  8  9  10



10  20  30  40  50  60  70  80  90  100

10 дес. = 1 сот. = 
100



100  200  300  400  500  600  700  800  900  … 1000

100 дес. = 10 сот. = 
1000

100

100

100

100

100



1 руб. = 100 
коп.



1 дм = 100 
мм

1 м = 100 см



1 км = 1000 
м



1 кг = 1000 г



1 тонна = 1000 
кг


